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data.frame() & xtabs()



T—%% CSV 774 )LELTHT

A B C
1y X Spc
2 286 DA
3 85 0B
4 378 TA
5 148 1B
A

o I[CSV] & LTHRE (Fi 2< %))
e d2.csv EWID T 7M1 INAICT B

o d2.csv DAAH
V,X,SpcC
286,0,A
85,0,B
378,1,A
148,1,B



T—4H% RICKHIH, data.frame ICEHE

> d2 <- read.csv("d2.csv") # LAZAT, data.fram
KHR

> d2 # d2 &\UWD data.frame ZIFRR

y X SpcC
1 286 0 A
2 8 0 B
4 3781 A
5148 1 B



> (ct2 <- xtabs(y ~ x + Spc, data = d2))
Spc
X A B
0 286 85
1 378 148



> xtabs(y ~ x, data = d2)

X
0 1

371 526

> xtabs(y ~

Spc
A B

664 233

> xtabs(y ~

X

Sspc O 1
A 286 378
B 85 148

Spc, data = d2)

Spc + x, data

d2)



0 286 85

1 378 148

> plot(ct2, col = c("orange", "blue"))
ct2

0 1




library(lattice) Z=fF > 7B~

Spc
X A B
0 286 85
1 378 148
> library(lattice)
> xyplot(log(y) = factor(x), data = d2, groups = Spc, type = "b")
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~  Binom( : + Ys,2)

]
+
&

logit (g, ..)

Spc
X A B

0 286 85

1 378 148
> summary(glm(ct2 ~ c(0, 1), data = d2, family = binomial))
(... B%...0)

Estimate Std. Error z value Pr(>|z|)

(Intercept) 1.213 0.124 9.82 <2e-16
c(0, 1) -0.276 0.157 -1.76 0.079



logit(g, .) = 1.213 4+ (—0.276)x
plot(ct2) ICL BT —9 R

ct2 |

q
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T AlIC

x ICIKEFT D logit(gs ) = a, + bgx  16.5
x [TIKFELARWL  logit(gn...) = 17.6
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SHEHE T £ T )L log-linear model




> # SpcA ¥
> summary(glm(y ~ x, data = d2[d2$Spc == "A",], family = poisson,
(... 0&..0)

Estimate Std. Error z value Pr(>|z]|)
(Intercept) 5.6560 0.0591 95.65 < 2e-16
X 0.2789 0.0784 3.56 0.00037



> # SpcB ZlF

> summary(glm(y ~ x, data = d2[d2$Spc == "B",], family = poisson,
(... 0&..0)

Estimate Std. Error z value Pr(>lz|)
(Intercept) 4.443 0.108 40.96 < 2e-16
X 0.555 0.136 4.07 4.6e-05



log(

) = 5.66 + 0.279x

log(XAg,:) = 4.44 4+ 0.555x
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o IS GLM: logit(q, .) = a, + b.x
1
1+ exp[—(ar + buz)]
o K7V Vo log(M. ) = o, + fx 18 &E
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------ [ATEDEIE] 137
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LbEs: —IER R ERTY U HED GLM

—IA9%% GLM RT3 GLM
= 1.213 = — O
— ‘0276 — — /33

> Z“IES# GLM (A FBDHER)
> glm(ct2 © c(0, 1), data = d2, family = binomial)

(Intercept) c(0, 1)
1.213 -0.276
> K7V Va3 GLM (A D)
> glm(y ~ x, data = d2[d2$Spc == "A",], family = poisson)
(Intercept) X
5.656 0.279
> RTY V3% GLM (B D)
> glm(y ~ x, data = d2[d2$Spc == "B",], family = poisson)
(Intercept) X

4.443 0.555



RT3 HD GLM ( ) RT7Y a3 HmED GLM (B &)
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R7YVRHD GLM (—FHFR)
REFRAEZS F<HMHTS

> summary(glm(y ~ x * Spc, data = d2, family = poisson))
(... B%...)

Coefficients:

Estimate Std. Error z value Pr(>|z]|)

(Intercept) 5.6560 0.0591 95.65 < 2e-16
X 0.2789 0.0784 3.56 0.00037
SpcB -1.2133 0.1235 -9.82 < 2e-16
x:5pcB 0.2757 0.1570 1.76 0.07921
(... 0&...0)

[BEIAR] DRT7Y VSH GLM & —F — ZIESH GLM &£ —3
— 5.66 ap = 5.66 — 1.21
— 0.279 Bs = 0.279 4+ 0.276
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0 286 85 7

1 378 148 17

> plot(ct3, col = c("orange", "blue", "green"))
ct3

0 1




library(lattice) Z=fF > 7B~

Spc
X A B C
0 286 85 4
1 378 148 17
> library(lattice)
> xyplot(log(y) = factor(x), data = d3, groups = Spc, type = "b")

1 1
6 -




K7V a3mD GLM (—FFA )

> glm(y ~ x * Spc, data = d3, family = poisson)

(... B%...)

Coefficients:

(Intercept) X SpcB SpcC  x:SpcB  x:SpcC
5.656 0.279 -1.213 -3.710 0.276 0.608

[HEAR] ORPY V3% GLM D85 X —F—TE &-oon

~  Pois( )
log(An2) = + Oz
— 5.60 oag = 5.66 — 1.21 oac = 5.66 — 3.71

= 0.279 B = 0.279 4 0.276 Bc = 0.279 4 0.608
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"B GLM Ziksk L 7c 2 IR0 GLM

library(nnet) O multinom()



ZIENT - OV AT 14 772 GLM

> ct3 # PEIRZRR
Spc
X A B C
O 286 85 7
1 378 148 17
> library(nnet) # nnet package &M H
> multinom(ct3 ~ c(0, 1))

(...B&. .. ZENH - AV AT 4v Y GLM
Coefficients: Ys,x ~ Multinom(gs ., 3 BHET
(Intercept) c(0, 1) Yew ~  Multinom(qc., 3 BEEH
B -1.2133 0.27552 ogit .
C _3.7097 0.60763  |09t(dsz) = as+ bew
Iogit(QC,m) = ac + bcx

> # RFPY V9% GLM R CHEE!



53

EIRIFED T 37

o TRTDARERL HHDETHNS LA
~ cf. 2004 57— 5 RATEEBERDRARERR

> cat (sapply (results, £
sprintf ("Model %-12s,

sep

Model
Model
Model
Model
Model

2012-03-19

(
(
(
(2
(A

— 'Il'\n'li)

A+B+C) , AIC
A+E) (C) , AIC
A+C) (B) , AIC

\) (B+C) , AIC
) (B) (C) r AIC

EENZRRDE DZHK

ITRTODTIV—ThIFIZD

WT AIC Z25TR Y 5.

> results <- estimate.poisson(samples)

unction(r)

AIC = %.1f", rStag, r$Sglm$aic)),
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06221 14 11 10 10 2 0 2

1 48 34 22 17 16 7 2 1 1

> plot(ct9, col = c(THERTHER EFEE))

0 cts 1




library(lattice) Z=fF > 7B~

Spc
X AAB C D E F G H I
06221 14 11 10 10 2 0 2
1 48 34 22 17 16 7 2 1 1
> library(lattice)

> xyplot(sqrt(y) ~ factor(x), data = d9, groups = Spc, type = "b",

11




KTV V3 ED GLM (—HEAR)

> ct9
Spc
X A B C D E F G H I
0 62 21 14 11 10 10 2 0 2
1 48 34 22 17 16 7 2 1 1
> summary(glm(y ~ x * Spc, data = d9, family = poisson))

(Intercept) X SpcB SpcC

4.127 -0.256 -1.083 -1.488

SpcD SpcE SpcF Spc@

-1.729 -1.825 -1.825 -3.434

SpcH Spcl X:SpcB X:SpcC

-26.430 -3.434 0.738 0.708

X:SpcD X:Spck X:Spck X:Spc@

0.691 0.726 -0.101 0.256

X:SpcH x:Spcl

22.559 -0.437 HfE OEEEILIIN Y AN
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KTV R HED GLMM 25 ED 7557

> (fit.glmm <- glmmML(y ~ x, data = d9, cluster = Spc, family = poisson))

coef se(coef) z Pr(>|zl|)
(Intercept) 2.012 0.465 4.323 1.5e-05
X 0.114 0.120 0.956 3.4e-01

> fit.glmm$posterior.modes
[1] 1.926862 1.230935 0.807098 0.557225 0.483854
[6] 0.067305 -1.218522 -2.005846 -1.426968
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